
Motion Formula

The distance
,
d
,
traveled by an object moving at a rate , r,

in time t
, is given by

D= rot

Ex pg 68

Delta Airlines' fleet includes 13737/8005 , each with a

cruising speed of 517 mph and Saab 340105
,
each with

a cruising speed of 290 mph .

Suppose Saab 340b takes off & travels its cruising speed .

One hour later a 137371800 takes off and follows the

same route
, traveling at its cruising speed . How long will it

take for the 13737/800 to overtake the Saab 340 b?

290 mph dB = miles traveled by the 13737/800
→

ds = miles traveled by the Saab 3406

gmPh t = hours after the 137371800 leaves

Distance Rate Time

137371800 dB 517 t ⇒ 4,3=517 - t

Saab 3406 ds 290 t -11 ⇒ ds = 290 -Atl)

when does dB=ds ?

517£ = 290 Htt)

517T = 290 t t 290

227 t = 290

C- =
290
-227=1.28 hours

check : dB= 517-(1-28)=661.76 mi

ds= 290 (1.28+1)=290 (2.283=661 . 2mi

Answer the question : About 1.28 hours after the 137371800

takes off
,
it will overtake the Saab 340b



EX PFS # 42

A private airplane leaves an airport & flies east at a

speed of 180km/h
. 2 hours later a jet leaves the same

airport at a speed of 900 km/h .
How far from the

airport will the jet overtake the airplane ?

da = 180 - (t t 2) da -- km traveled by the airplane

dj= 900 - t dy -_ KM traveled by the jet

d
,
= DA

t = hours after the jet leaves

900 -t = 180 (t + 2)

900T = 180ft 360

720T = 360

t = L2 (tzhr after DJ leaves)

dy = 900 (E) = 450km

Check da = 18042+2) = 180 (E) = 450 KM ✓

Answer : the jet will overtake the airplane at 450 KM

east of the airport



Ex p 76 # SO
-

Marissa is designing a poster . The width of the poster will

be 213 of its height & its perimeter will be 100 in .

Find the dimensions of the poster .

Perimeter : add up all the side lengths
w

h = height of the poster h h

w = width of the poster
w

p = perimeter of the poster

w= Eh
D= hthtwtw = 2h +2W = 2h t2(Eh) = 2h thigh

= Seh t 4Th =
'

Sh

3400in)= b) 31
300 in = 10h

To To

30 in = h

W = Zz h = Zz (30) = 632=20 in

The dimensions of the poster is 20in × 30in



Ex p 77 #65

Rosalyn worked 48 hr one week and earned $1066 paycheck. She

earns time and a half 4.5 times her regular hourly wage) for the
number of hours she works in excess of 40

. What is

Rosalyn's regular hourly wage?

X = Rosalyn5 regular hourly wage

1066 = 40×+8 ( 1.Sx)

= 40 X t 12 x

=52×1066
-52 = X

= 20.5

Check : 40120.5) = 820

8 (1.5-20.5)=8 (30.7-5)=246

820+246=1066 ✓

Rosalyn 's hourly wage is $20.50



Ex p 77 # 66

City Cabs charges $1.75 pickup fee and $1.50 per mile

traveled . Diego fare for a cross - town cab ride is $19.75.

How far did he travel in the cab?

D= miles traveled by Diego

19.75=1.75 t 1.Sod.

18.00=1.50 d

18=1.5 d

18
i.
=D

.

12=4

Check : 19.75=1.751-1.542)

=L . 75 t18=19.75✓
Answer : Diego traveled 12 miles


